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LANGUE VIVANTE II Epreuve du 1° groupe
ANSWER KEY

I- READING COMPREHENSION (8 marks)

A- Appropriate answer (1 mark)

l.c

B- Sentence completion (1 mark)

2e e the food production has declined in Africa

B rural people would stay at the countryside and work (or any other logical answer

according to the text).

C- True or False (3 marks)
4. False « One economic cause of urbanization is the lack of opportunity in the countryside »

5. False « Generally, food production has declined »

6. True « Today, the same region has to import nearly 20 percent of the grain it needs. »

D- Synonyms (1.5 marks)
7. a hub

8. bartering

9. drought

E- Referencing (1.5 marks)
10. one main city

11. young Africans

I12. Children (who are born and raised in cities) / city — dwellers

II- LINGUISTIC COMPETENCE (7 marks)

A./ Blank filling (2 marks)
13. unemployment

14. availability
15. infertility
16. hopeless

B./ Possible questions (2 marks)
17. When / How long ago did you come to town?

18. Have you found a job yet?
19. Have you applied for a job/have you sent any job application ?
20. Do you hope to get a job?

C. / Dialogue completion (1 mark)
21. will they?

22. they won't (or any other logical response)

D. / Rewriting (2 marks)
23. ...to buy these goods
24. ....the farmlands hadn’t been overused.

III. WRITNG (5 marks)

Understanding of topic (1 mark) — Relevance of ideas (1 mark) — Coherence of text (1 mark)
— Accuracy (1 mark) — Originality of ideas (1 mark)



